PRILOHA C.4

r r fl . s ’ r " -
Podélny profil: VETEV B M 1:1000/100 Podélny profil: VETEV C M 1:500/100 .
<
)
L] L =
Rozsah: km 0,00000 - km 0,07716 Rozsah: km 0,00000 - km 0,18484 g
@
[+
3
3
[=2]
S
>~ =)
S
Q¢ S
oY S
2 o 7
& A o
N 3
) g &
0 IS
N N
R=2500.00 2
T=4.945
©
&
9 3 R=1000.00 & «
o —. ©
@ =1 = KA
9 ©
S S
3 =
), =1
) © S
=1
& =
o <
¥ 9 / 26
Ly =) /
N
B
3
3 8
S 2
<
R=1000.00 g, S
)
~
5
<
3
8
A S
S
~
&
@
oF\'
s/ 8 e
R 2
© 5
Y, S
S =]
N/
L%
/ g
(=]
3
=]
2
=
o
o
[=]
8
(=]
o
S
o (=3
8
8
8
8
S
o
KOTY NIVELETY: K~ @ b=} N KOTY NIVELETY: b=} g g 2 3 2 8 3 2
< s @ o w0 o o o < o < « N
i i i i i | i i i i i . i
KOTY TERENU A b 5 KOTY TERENU L L) o o L) - -
N 3 8 pal 3 pa ] Q
SROVNAVACI ROVINA: 3 8 8 SROVNAVACI ROVINA: 179m Bpv_ < 8 8 S 8 S
Jﬂm—% 3 3 3 3 3 S & b
1 1 1 1 1 1 1 1
STANICENI: STANICENI:
8 8 8 8 3 8 8 3 3 3 3 3 8 g8 3
8 5 < 3 IN 8 & g 3 3 Rosom Resom Retom & g 3 8 3
- L=0.32m [=2.64m L=151m R=5m R=5m .
P=6.01m = R=5m
- R=41 = - S = L=0.37 =0.61m R=5m 5m -
56 155 50m B P-2.42m L1150 B [Resom Resom. [Rsom pssom (M [Resm L0, ' Resm sm | eom
SMEROVE POMERY- Bz 81m ' h 1 ' ' ,—IM SMEROVE POMERY: } P=15.09m i P=20.23m '} P=18.29m i P=20.99m ' P=19.26m \ =8, ast + P=18.50m 2 P=16.53m 4 P=6.97m 4
tm
L=0.29m l
P=1.19m P=1.09m P=1.06m
g 3 2 8 & 88 R g £l 38 33 85 & € ZEIIX™W 8 8 0B 3 ] a )
° = & & 3 58 8 N © a5 53 53 =] g g B2 TES & I = k3 2 ° &
— e A H — ~H ~H - - .




